
Unit 6 Study Guide        Name           ______ 
  
Simplify.  Leave no negative exponents. 
 
1)  22222      2)  -33 x xxyyyy        3)  m2n4m5n-8         
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Explain if each is linear or exponential. Then, write the equation.  
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Explain if the following exponential model is growth or decay. 
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X -2 -1 0 1 2 3 

Y 3 5 7 9 11 13 

x -2 -1 0 1 2 3 

y 1 2 4 8 16 32 

X -2 -1 0 1 2 

Y 12.5 10 8 6.4 5.12 

x -2 -1 0 1 2 3 

y 7 3 -1 -5 -9 -13 



Graph the following exponential functions. 
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Answer the following exponential growth/decay problems.  
 
32)  You deposit $5,000 in an account that pays 5.7% interest compounded yearly.  What   

  will the account balance for the given number of years?   
 (Round to the nearest penny) 
 
a)  3 years    b) 7 years    c) 18 months 
 
 
 
 
 
 
 

 
 

33) The population of Carl Sandburg High School has been decreasing by about 5% each year.  In 2005 
there were about 3,500 people at Sandburg.  What will be Carl Sandburg’s population in….. 

 (Round to the nearest person) 
 
a)  3 years    b)  7 years    c)  12 years 
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